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%% Parameters Setting

data=load('data.mat');
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nvar=data.nvar; _jaxis 5luxj

1lb=0*ones (1, nvar) Lower Bound la jxxio
ub=1*ones (1, nvar) Upper Bound s w5
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npop=40; % Population Size
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maxiter=200; % Maximum Numb
o=l s b Gdl cwas s
J}.ﬁ) PM .1_31_) _)_l_ol‘)l_g

pc=0.9; %
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ent of mutation
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data.npop=npop;
data.ncross=ncross;
data.nmut=nmut;
data.maxiter=maxiter;
data.lb=1lb;data.ub=ub;
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%% Create Random Pop
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emp.x=[];
emp.fit=[];
emp.info=[];
emp.SCH=[];

pop=repmat (emp, npop, 1) ;
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for i=1l:npop
pop (i) .x=unifrnd (lb,ub);
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pop(i)=fitness (pop (i), data);
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end

% Best Solution
[~,ind]=min ([pop.fit]) ;

gpop=pop (ind) ;
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%% main loop
BEST=zeros (maxiter;1) ;
MEAN=zeros (maxiter, 1) ;
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% CBOoSsover
crosspop=repmat (emp,ncross, l);
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Crosspop=crossover (crosspop, pop,data) ;
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% mutation
mutpop=repmat (emp, nmut, 1) ;
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mutpop=mutation (mutpop, pop,data) ;
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% Merged

[pop]=I[pop;crosspop;mutpop] ;
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% Sorting

[value, index]=sort ([pop.fit]) ; pop=pop (index) ;
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gpop=pop (1) ; dian olwlid (Goyten

% Select
pop=pop (l:npop); +xo Juws 4 5 Gdino olais!l L Goydgs
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BEST (iter)=gpop.fit; 5.l gupdes cile osusd
MEAN (iter)=mean ([pop.fiLl) ; Sl 0 2S5lie sile oyusd

NO=' Feasible™;
if gpop.SCH>O0
NO="'_.Infeasible';

end
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disp([ ‘Iter = " num2str(iter) ' BEST = '

num2str (BEST (iter)) NO 1)

adloy Ole> Gobe 9 1SS oo blad sl jo 1SS ol i gulad
le> (092 420 Garoy g oSS G2l Do el

%% Results
disp([ " Best Fitness = ' num2str (gpop.fit)])

disp ([ ' Time = ' num2str (toc) 1) 1> gley golas



figure (1)
semilogy (BEST, 'r')
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hold on

semilogy (MEAN, 'b')
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xlabel (' iteration ')
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ylabel (' fitness')
S8l Hexe () Jod
legend( 'BEST', "MEAN'")
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title('GA")
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RES (gpop,data)
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